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Cluster: 0044 ptr; resid: 0.37; r/c: 37/60

x.range

upstream meme PSSM #1; e=0.52

1 3 5 7 9 11 131 3 5 7 9 11

x.range

y.
ra

ng
e

upstream meme PSSM #2; e=2.2e+03

1 3 5 7 9 111 3 5 7 9
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1103
9413

13320

17720

19333

31980

32772

33705

34923

36136

36877
38937

42689

42949

42960

43160

43746

44961

45017

45353

45622

45623

46131

46709

47036

47531

48136

48675

48878

48992

48993

49832

49931

49956

50241

54251

54863

string −500 −400 −300 −200 −100 −1
36136NA
46709−0.05
47036−0.08
43160−0.12
45017−0.14

9413−0.17
33705−0.19
50241−0.22
19333−0.23
49956−0.29
47531−0.29
45353−0.32
45622−0.35
42949−0.36
45623−0.56
48992−0.59

1103−0.62
48878−0.75
49832−0.77
54863−0.82
42960−1.03
38937−1.05
46131−1.16
48136−1.44
17720−1.53
44961−1.61
48675−1.82
43746−2.05
34923−2.28
13320−2.31
48993−2.33
49931−2.53
54251−2.67
42689−3.34
36877−3.70
32772−3.82
31980−4.71

log10(P) upstream meme1 2 log10(P.clust)=−1.29; 37 seqs; 37 uniq
c(0.5, 2.5)
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